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	INSTRUCTIONS:

· Answer Question 1 (COMPULSORY) and any FIVE other questions.
· Please note: Do not answer more than SIX questions.  Only the first SIX answers will be marked.
· Answers must be numbered correctly in accordance with the numbering system used in this question paper.
· Neatness and a systematic presentation of facts are essential.  Where possible, answer questions in point form.

· The length of your answers should be in relation to the marks allocated.


	


	QUESTION 1

COMPULSORY

Determine the correct answer and write down only the appropriate letter next to the relevant question number.

1.1 If you inherit R2 000,00, but you do not have a business knowledge, in which form of business will you buy shares?
A. Sole trader

B. Public company

C. Partnership

D. Close corporation

1.2
Which method does a public company use to invite prospective investors to invest their money in the company?

A. Newspaper advertisements

B. Circulars to banks

C. Prospectus

D. Circular to brokers
	


	1.3
Shares in a ______ are freely negotiable.

A. private company

B. close corporation

C. public company

D. partnership

1.4 Product policy includes the following.  Which one is incorrect?

A. Choice of a product

B. Design of a product

C. Manufacturing of a product

D. Packaging of a product

1.5 Which one of the following types of capital is secured by debentures?

A. Fixed capital

B. Own capital

C. Borrowed capital

D. Working capital

1.6 A person who binds himself in writing to the creditor to pay the debtor’s debt, if the debtor cannot pay, is called a

A. debtor.

B. factor.

C. mortgagee.

D. surety.

1.7 Which one of the following is current assets?

A. Stock

B. Building

C. Equipment

D. Ground

1.8 The break-even point is where the enterprise has an income

A. equal to its expenses.

B. greater than its expenses.

C. which is decreasing.

D. which is increasing.

1.9 Businessmen can insure themselves against the following risks.  Which one is compulsory?

A. Theft of money in transit

B. Workmen’s compensation

C. Cattle

D. Fire and burglary
	


	1.10 Assume the value of a building is R100 000 and it is insured for R150 000.  Which amount will be paid out if the whole building burns down?

A. R150 000

B. R120 000

C. R  80 000

D. R100 000

1.11 The right a person has on a policy may be transferred to another person.   This is called

A. reinstatement.

B. cession.

C. pledge.

D. discount.

1.12 Which one of the following is not an overhead cost?

A. Direct raw materials

B. Indirect raw materials

C. Rent of factory

D. Depreciation

1.13 If the SABS mark appears on a product, it is an indication that the product

A. is standardised.

B. is made from precious metal.

C. complies with a certain quality standard.

D. is the best on the market.

13x2 =
	(26)


	Give a term/word(s) that best suits the following descriptions.  Write only the answer next to the relevant question number.

1.14 A document issued by a company to the person from whom it borrowed money.

1.15 The image of a business which is created by the media and for which the business does not pay.

1.16 The right a creditor acquires over the fixed property of a debtor, whereby he can sell the property and repay himself from the proceeds if the debtor fails to pay his debt.

1.17 With the paying of the first premium on insurance, a receipt is issued which serves as a preliminary insurance.

1.18 A guarantee by a financial institution that it will take up any portion of the minimum subscription, which has not been taken up by the public.


	


	1.19 That part of the capital which is used to buy stock and to give credit.

1.20 The market where loans are available on short term.

1.21 Those costs which must be paid irrespective of the number of articles manufactured.

1.22 The document which a seller (creditor) can request from the bank concerning the creditworthiness of a customer.

1.23 A special design, device or stamp on manufactured goods which indicates to the public that the goods were manufactured by a specific manufacturer.

1.24 A form of ownership of which the number of members may not exceed 10, and where the liability is limited.

1.25 The owner of a business sells to another person the right to conduct a business for his own interest within the boundaries of certain conditions.

12x2 =

Answer any FIVE other questions.
	(24)
[50]


	QUESTION 2

FORMS OF OWNERSHIP

2.1 Monareng opened a business where there is a close contact between him and his customers.

2.1.1 What form of enterprise is this likely to be?
2.1.2 Give FIVE characteristics of this type of business.


  5x2 =

2.2 Name SIX advantages that John and Hazel derive from running a


partnership.









  6x2 =

2.3 Indicate whether the following statements are TRUE or FALSE:

2.3.1 The only difference between a private and a public company is vested in the suffixes to their names.

2.3.2 A Close Corporation has no legal personality.

2.3.3 Vertical amalgamation is between firms on different levels.
	(2)
(10)

(12)



	2.3.4 A registrar of a close corporation issues a certificate to the company to commence business.

2.3.5 A partnership is a contract of utmost good faith.



  5x2 =


	(10)


	2.4 Define the following terms:

2.4.1 Holding company

2.4.2 Founders’ shares
2.4.3 Founding statement

2.4.4 Final dividends

2.4.5 Certificate of incorporation
	(3)

(3)

(3)

(3)

(4)

[50]




	QUESTION 3

FINANCIAL FUNCTION

3.1 Give the correct term for each of the following.  Write down only the applicable term next to the corresponding question number.

3.1.1 The portion of capital available to a business for conducting its daily 
operations.

3.1.2 The budget which indicates which fixed assets the firm wants to acquire 
within the next five years or more, and how it can be financed.

3.1.3 That capital which is contributed by owners, partners or shareholders.

3.1.4 The quantities of particular stock items that must be ordered regularly.

3.1.5 The right a creditor acquires over the property of a debtor by virtue of which he can sell the property and repay himself from the proceeds if the debtor fails to pay the debt.

3.1.6 A business always tries to maintain the lowest levels of stock that will



allow production and sales to continue without interruption.

  6x2 =
	(12)


	3.2 Indicate whether the following statements are TRUE or FALSE:

3.2.1 Overhead expenses consist of variable costs only.

3.2.2 The use of borrowed capital increases the risk of an enterprise.

3.2.3 It is sound policy to finance fixed assets with money received on long term.

3.2.4 The relationship between own capital and borrowed capital is known as 
liquidity.








  4x2 =
	(8)


	3.3 State FOUR disadvantages of credit trading.

3.4 List the FOUR objectives of the financial function.

3.5 Discuss the following sources of information regarding the financial status of a prospective buyer:

3.5.1 Application form for credit

3.5.2 Employers

3.5.3 Chamber of Commerce






  3x2 =
	(8)

(8)

(6)


	3.6
Name FOUR factors that will determine the amount of working capital a business may need.
	(8)

[50]


	QUESTION 4

PRODUCTION FUNCTION

4.1 Choose from the remarks below:
4.1.1 THREE advantages of mass production
4.1.2 THREE advantages of batch production
4.1.3 FOUR advantages of proper factory layout for the workers
4.1.4 FOUR advantages of proper layout for the company
	(6)

(6)

(8)

(8)


	DO NOT REWRITE THE SENTENCES.  WRITE DOWN ONLY THE LETTER OF YOUR CHOICE NEXT TO THE CORRESPONDING QUESTION NUMBER.
	


	A. Fluctuations in the demand for the product can be accommodated more easily.

B. The handling of materials (spare parts) are restricted.

C. Physical exertion and exhaustion is reduced.

D. Labour costs are lower.

E. Less movement is required to bring together all the necessary parts and materials at the work place.

F. The production control process is simplified.

G. Less materials are wasted.

H. The flexibility and adaptability to meet circumstances make it easy to handle delays in production.

I. Transport costs within the factory are lower.

J. A smaller investment in stock is necessary.

K. Workers and machines are optimally employed.

L. Less handling of materials and parts takes place.

M. There are fewer accidents because of correct positioning of machinery.

N. The multi-purpose machinery and equipment are usually less expensive than the single purpose machines used in the other production process.
	


	4.2 Vuka Limited manufactures steel doors.  The following information appears in their statement of production costs:
	


	Direct labour
	:
	R  75 000

	Use of raw materials
	:
	R145 000

	Overheads which consist of
	:
	

	Fixed costs
	
	R  50 000

	Variable costs
	
	R  35 000

	Number of steel doors manufactured
	:
	  10 000


	Calculate the following:

4.2.1 Overheads

4.2.2 Total manufacturing costs

4.2.3 Cost of one steel door

4.3 State FIVE advantages of quality control.
	(4)

(4)

(4)

(10)

[50]


	QUESTION 5

MARKETING FUNCTION
5.1 You are the marketing director employed by South African Breweries. Answer the following questions:

5.1.1 Name TWO purposes of specially designed packaging in which you decide to market your Lion Lager brand.

5.1.2 List FIVE requirements which you will consider when you design the packaging for Castle Lager.

5.1.3 State FOUR forms of markets that can be considered as important and which will influence prices.

5.1.4 You intend using agents as part of your Lion Lager distribution channel.



Name THREE functions you expect agents (or agencies) to perform in 

executing their duties.

5.1.5 What are the principles of a good Hansa advertisement?  Name FIVE such principles.

5.1.6 Your company markets different brands of beer (for example Hansa, Castle, Black Label and Lion).  Name the form of market in which you are involved.

5.1.7 Name FIVE requirements of a good trademark which South African Breweries must bear in mind when designing a trademark.
	(4)

(10)

(8)

(6)

(10)

(2)

(10)

[50]


	QUESTION 6

INSURANCE

6.1 You are an insurance broker who has targeted a new businessman as a client.  State FIVE advantages of insurance that you would offer your prospective client.

6.2 Name TWO basic principles of insurance and in each case give an example of a risk covered by this principle.

6.3 Name and explain TWO basic requirements of insurance.

6.4 You are an insurance broker and you intend giving your client information.  Name FOUR factors which determine the risk as outlined in a fire insurance policy.

6.5 The government has put into place the so called compulsory insurance schemes.  Name THREE such schemes and in each case state the purpose of the scheme.
	(10)

(8)

(10)

(8)

(12)


	6.6
What is meant by the concept under-insurance?
	(2)

[50]


	QUESTION 7

THE FUNCTION OF GENERAL MANAGEMENT 
7.1
For any manager to be considered efficient he/she must possess certain qualities and capabilities.  Give SIX characteristics of a good manager.

 6x2 =

7.2
List FOUR advantages of a line organisation structure.


  4x2 =

7.3
What does the functional organisation structure entail?


  3x2 =
	(12)

(8)

(6)


	7.4 Fill in the missing words and state the designation and level of management:

7.4.1
______is the process of integrating different activities of individuals and departments.
	


	
7.4.2
(State designation and management level)
	



	
	


        (a)__
	 _ (b)__

	
	

	
	
	
	
	

	
	PRODUCTION MANAGER
	MARKETING MANAGER
	__(c)__
	

	
	
	

	
	
	
	
	
	

	
	 A
	
 B
	
	 C
	D
	__(d)__

	
	
	
	
	
	

	WORKERS
	
	WORKERS
	
	WORKERS
	
	WORKERS
	


	

(e)
A, B, C and D are called _________________.
	


	

(f)
Production manager and marketing manager are ______ managers.
	


	
(g)
______ refers to the number of subordinates which a person in a position of authority can control efficiently.


  8x3 =
	(24)

[50]


	QUESTION 8

ADMINISTRATIVE FUNCTION / ENTERPRISE AND ITS ENVIRONMENT
8.1 Today almost all businesses make use of the computer.  State FIVE purposes for which the computer can be used in the business world.

8.2 The handling of accounting records can be regarded as one of the most important administrative activities in any enterprise.  List FIVE accounting systems most commonly applied in an enterprise.

8.3 Distinguish between:

8.3.1 Centralisation and decentralisation of administrative activities

8.3.2 Data and management information
	(10)

(10)

(4)

(6)


	8.4 The enterprise and the environment in which it operates are interdependent.  The enterprise relies on the institutions around it for its survival.  Identify the institutions offering the following services to business enterprises:

8.4.1 Keeping a blacklist of poor payers (debtors)
8.4.2 To undertake and to promote scientific and industrial research in South Africa
8.4.3 Eliminates unhealthy competition between businesses

8.4.4 Invests surplus funds of the public sector in the private sector

8.4.5 Exercises control over the currency exchange rate
8.4.6 Grants short-term credit to farmers
8.4.7 Promotes standardisation in industry and commerce
	

	8.4.8 Serves as an important link between investors and entrepreneurs

8.4.9 Has the sole right to issue bank notes and therefore ensures that the number of notes in circulation is being controlled
8.4.10 Grants loans to agricultural cooperative societies

10x2 =
	(20)

[50]


	QUESTION 9

GENERAL
9.1 Name the TWO documents which together form the constitution of a company.

9.2 State FOUR requirements as laid down by the Companies Act number 61 of 1973, with regard to the name of a public company.

9.3 Tabulate THREE differences between a shareholder and a debenture holder.

9.4 Name and explain THREE kinds of consumer goods.

9.5 State FOUR factors that could influence the price of a product.

9.6 Advertising is one of the tools (components) of the marketing communications mix.  Name and briefly discuss the other THREE components.

TOTAL:
	(4)

(8)

(6)

(12)

(8)

(12)

[50]
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